Class:9th

Test:Math

Attempt ......... questions

" If the length and breadth of a rectangle
are 'a' and 'b' then the area will be:

a) at+b b) a-b
¢) a+bh d) axb
* What is the area of the given figure
6cm
12c¢m
a) 6cm’ b) 12¢m”
c) 36cm’ d) 72em’
® Similar figure have in area:
a) Parallel b) Perpendicular
c) Different d) Same
4
Area of given figure.
a) SCm2 b) 10cm’
c) 20cm’ d) 25¢m”

> The point of concurrency ofithethree

Prependicular bisectors of triangle is called:

a) Centroid b)~Oxthocenter

c) Circumcenter < d) Incenter

¢ Medians of a triangle are
a) Concurrent b) Congruent
¢) Equal d) Parallel

! Angle bisectors of the three angles of a

triangle are

a) Equal b) Perpendicular

c) Equal distance d) Concurrent
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° If two medians of a triangle are congruent =A™ ss JUn Jb’" &b 9y L .:.‘l’—'; _g /(i

then the triangle will be
a) Isosceles b) Equilateral

c) Rightangled d) Acuted angled
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